RE4 =HB
ER28EFEEEMEEFHEIOMDE-11 A A& H28.11.6

iE8 NEAGL | 598% | 5TRE K& 1 2 3 4 5 6 &t EZE
10mS60M 1 1 058 e 100.5 102.0 101.3 102.6 99.6 100.1 606.1 32
10mS60M 2 1 19| B2 AER 100.0 101.4 101.6 100.4 99.8 102.6 605.8 29|
10mS60M K] 1 29|32 ’ER 96.1 98.0 101.1 101.6 101.8 98.8 5974 24
10mS60M 4 1 17 55 97.0 97.9 101.4 101.1 101.1 96.7 595.2 24
10mS60M ] 1 18|F8x #al 98.9 94.1 96.2 98.8 96.6 99.6 584.2 24
10mS60M 6 1 28|EF #ith 948 97.2 95.2 98.0 97.6 95.5 578.3 14
10mS60M 7 1 23|Ihik FEE 96.9 95.7 94.7 93.9 98.6 98.1 577.9 17
10mS60M 8 1| 25|04 1 97.8 92.2 94.1 98.4 98.6 96.7 577.8 21
10mS60M 9 2 18|k H— 96.5 91.0 100.7 97.4 93.5 98.5 577.6 13
10mS60M 10| 1 22|l5H# A 89.9 98.5 98.0 93.7 98.1 98.9 577.0 12
10mS60M 11 1 30|+ Hig 96.0 98.2 98.3 945 96.2 93.5 576.7 11
10mS60M 12 1 215K fnE 92.8 95.9 97.7 94.7 96.5 94.3 571.9 9
10mS60M 13 2 17|\ fh— 904 97.1 94.2 93.9 925 87.6 555.7 12
10mS60M 14 1 27|55 4 BE 91.2 95.6 84.6 98.5 92.5 90.9 542.3 11
10mS60M 15| 1 24|&£m fnk 83.4 90.6 87.0 93.2 94.0 90.9 539.1 8
10mS60M 16 1 26|k BE 93.0 93.7 99.2 83.2 79.2 84.6 532.9 13
10mS40W 1 1 32|lLum H=E 99.3 100.9 101.2 102.7 4041 24
10mS40W 2 1 33O EA 99.9 97.8 97.3 101.7 396.7 15
10mS40W 3 2 192 %% 97.8 99.6 99.7 98.7 395.8 13
10mS40W 4 1 35|iEm =E=E 98.6 99.6 97.6 99.7 395.5 18
10mS40W 5 1 31riE %£%E 101.1 96.1 99.8 97.8 394.8 15
10mS40W 6 1 36l sk 100.3 945 101.0 97.2 393.0 16
10mS40W 7 1 348y HE 92.3 97.1 96.8 95.0 381.2 10
10mS40W 8 2l 20lr ms 95.1 96.0 93.1 94.1 3783 10
10mP6OMW 1 2l 3olzm ms 105.2] 1055| 1054| 104.1]| 1045]| 104.1 628.8 54
10mP60MW 2 2|  24)iriE k% 103.9 103.3 105.4 105.7 104.6 105.6 628.5 55
10mP60MW 3 2 26/n 1 B 103.5 104.5 105.8 104.0 104.8 103.3 625.9 52
10mP6OMW 4 2l 2iles = 1038 1042 1051| 1039| 1035]| 1034 623.9 51
10mP60MW 5 2| 28|Fsx #sL 104.9 104.3 101.8 102.4 105.6 104.0 623.0 48
10mP60MW 6 2 32| LmAEAER 103.2 104.0 103.8 104.0 102.8 104.8 622.6 43
10mP60MW 7 2 220 &8 103.8 104.6 103.4 103.3 102.5 104.4 622.0 52
10mP60MW 8| 2 27tk =2 103.3 104.5 104.3 103.9 102.7 100.8 619.5 44
10mP60MW 9 2 255 182 102.1 102.4 103.9 103.0 102.0 104.5 617.9 41
10mP60MW 10 2|  33EH a2 103.6 102.9 101.1 103.0 102.8 103.6 617.0 39
10mP60MW 11 2 23|I\ HE 102.4 103.6 98.6 104.0 104.1 103.2 615.9 41
10mP60MW 12 2| 29|FEE A 103.9 102.1 99.5 100.0 100.7 100.1 606.3 28
10mP60MW 2l 3lxm BA DNS
AP60M 1 2 39|FmH A 89 90| 87 90 90| 96 542 5

iEH NEAE | 5% | 59 K4 1 2 3 4 5 6 A% &5
50mP60MW 1 1 26/h 1 B 104.5 99.7 100.4 103.0 103.2 102.7 613.5 28
50mP60MW 2 2 271E# XA 99.7 100.8 100.2 102.7 101.1 99.9 604.4 27
50mP60MW 3 2 20|EF #uth 97.3 100.4 100.2 99.7 99.9 101.0 598.5
50mP60MW 4 1 34|t BEFE 101.1 98.6 96.2 100.3 100.0 101.1 597.3 16
50mP60MW 5 1 28| &7 99.0 95.9 101.3 100.6 99.7 98.7 595.2 21
50mP60MW 6 1 29|=@ & 99.2 98.3 95.6 97.8 102.8 100.7 594 4 20
50mP60MW 7 1| 31|an @ 99.4 99.3 99.0| 1013 99.3 96.0 594.3 18
50mP60MW 8| 1 33E #E 97.3 98.2 94.3 93.1 100.6 94.0 5774 12
50mP60MW 9 1 2mwiE = 97.8 93.2 91.9 92.6 92.7 934 561.6 8
50mP60MW 10 1 OEH © 93.6 87.2 88.7 87.4 88.1 90.4 5354 9
50mP60MW 11 1 36|H# F Wik 80.1 83.3 71.7 79.7 755 81.1 4714 0
50mP60MW 1 27| bt —ig DNS
50m3X20MW 1 2l 30liEA E= 84 91 88 93 82 88 526
50m3X20MW 2 2) 29|85k EE 81 84 92 93 81 82 513
50m3X20MW-S 3 1 35| A B 94 90| 96 92 70| 71 513




